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wEH = 17,659,421 19,075,777 21,416,356
= 86,443 84,943 1,500
ras 500,000 500,000 0
2l 3,736,069 3,744,580 A8,511
& 1,251,700 1,257,990 26,290
= 12,085,209 13,488,264 21,403,055
YYSISHAN 25 532,440 700,497 £ 168,057
= 38,000 38,000 0
= 61,081 65,281 A 4,200
e 433,359 597,216 A 163,857
Bdu=s 532,440 700,497 A 168,057
= 38,000 38,000 0
LS 61,081 65,281 A 4,200
e 433,359 597,216 A 163,857
JdsiSdly 29 62,058 155,015 A92,957
101 1Al 7,328 29,285 N21,957
04 JIAMIEZRER = 7,328 29,285 21,957
OBMsIsHH 22 X SSAMSFA 7,328 29,285 A21,957
oJlzs 68,7203 « 1 »30 2,062 18,005 A 15,943
OF% - di=+¢ 68,7202 x 1 x14& 963 4,605 A 3,642
OgE It 100,000 x1& «13] 100 200 2100
ONME™ 3,025,000 *11.6% 351 2,623 N2,272
201 er2dl 54,730 95,730 A 41,000
01 At 2t el bl 39,840 75,840 £ 36,000
oddsigdy T2 29 18,000 54,000 36,000
OS2 A dEH T2 0 0 36,000 £ 36,000
03 &ArZ S b 0 5,000 25,000
O&ddsts dUEHI o0& 0 5,000 ~5,000
307 212t0 & 0 30,000 A 30,000
02 AUAHB AP E X 0 30,000 A 30,000
Ostsd NGgsHt &4 03 0 30,000 A 30,000
delEo W= 124,100 153,600 A 29,500
= 28,000 28,000 0
= 96,100 125,600 A 29,500
201 er2dl 44,100 73,600 A 29,500
03 A2 S H 44,100 73,600 A 29,500
OZFCL Ot=stw 500,000 *20H 2~ 10,000 36,000 A 26,000
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=) 1,000 1,000 0
[ia 0 1,000 A 1,000
A BUstsHE 23 123,700 150,300 N 26,600
201 Let24E] 90,900 114,900 A24,000
01 ArR2telHl 90,900 114,900 A 24,000
OZzd 2g ZAktl 36,000 60,000 224,000
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02 HAHFHANGEEE 17,400 20,000 A 2,600
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201 fEt2E | 0 12,000 A 12,000
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< 4,368 7,056 A 2,688
2 1,872 3,024 A1,152
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01 B THEAS SR (RHHTHR) 0 10,000 10,000
OSOHE MY L HASS ZUSE X8
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04 QIZ2HEHALALS B = 0 20,000 220,000
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< 12,000 12,000 0
= 0 12,000 A 12,000
307 21201 & 12,000 24,000 A 12,000
< 12,000 12,000 0
= 0 12,000 A 12,000
04 RIZFHALAIH 2 = 12,000 24,000 A 12,000
OZLXMIUETZH HAIWE100=E21E 303
“Ua JHE 12,000,000& 12,000 24,000 A 12,000
=) 12,000 12,000 0
T 0 12,000 A 12,000
dEHs B2 € 4 854,687 884,687 230,000
J| 322,236 322,236 0
< 212,527 212,527 0
= 319,924 349,924 230,000
MEHSs X 2el 36,000 66,000 /30,000
307 glztol ™ 36,000 66,000 /30,000
02 AHFLYAEEE 0 30,000 230,000
OHM153 s =24 MBHSUE HIt 0 0 30,000 /30,000
M= JIEtAIE &5 2,680,000 2,680,000 0
J| 2,500,000 2,500,000 0
= 180,000 180,000 0
=MsdE 2E 1,500,000 1,500,000 0
J| 1,500,000 1,500,000 0
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J| 1,500,000 1,500,000 0
01 A& HI 500,000 1,474,200 A974,200
O=2HsHH A 500,000,000& 500,000 1,474,200 A 974,200
J| 500,000 1,474,200 A 974,200
02 2eltl 1,000,000 21,750 978,250
O=22MsdH AE 2eldl  1,000,000,000& 1,000,000 21,750 978,250
J| 1,000,000 21,750 978,250
03 Al 2 THHI 0 4,050 A 4,050
O=2HMSHH HE ALR0UHI 0 0 4,050 A 4,050
J| 0 4,050 A 4,050
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02019 Ol F A &
1,708,450 1,709 0 1,709
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